BUNCER s N
Stock No.: 07134/07137 07135/07136

Stacking/Sliding Boxes, rartio: nggoD.EBSsng / BSSSODEEE‘EE’
K1, S1 Type: Stacking K1 Slider S1

Colour Grey/Black Grey/Black
Stock No. 07134, 07135, 07136, 07137 Dimensions L x D x H (closed): 905x 473 x312mm 500 x 1200 x 312mm
Original Instructions Dimensions L x D x H (open): 905x 828 x 312 mm 500x2105%x 312 mm
Version 1: January 2025 - 1st Release Max Weight Load Capacity: 300kg 300kg

Locking Mechanism: Single 70mm anti-pick and anti-drill stainless steel disc

10 YEAR Net Weight (empty): 35.8kg 50.7kg
WARRANTY

Health and Safety Information
Important: Read all the Health and Safety instructions before attempting to use or maintain this product. Failure to follow these
instructions may result in injury or damage to the user, the product or the vehicle where installed.

- Important: Before installing into a vehicle ensure that you consult and follow your vehicle handbook, or the instructions of your
vehicle manufacturer/local dealership, locate the appropriate fitting point(s)/method of fitting for this product.

- DO NOT exceed the max weight capacity stated.
« This product is heavy - 2 persons required for moving and installation.

- Ensure the boxis correctly installed and secured to the base of your vehicle using the fixings supplied. The integrity of the box is
dependent on the box being correctly installed.

Product Overview Installing the Storage Box In A Vehicle
Storage box - We DO NOT accept any liability or responsibility for any
: damage to, or effects on, a vehicle caused by incorrect
Stacking . . ; . o
Slider installation or the selection of unsuitable fixings.
« Tofit your Bunker storage product to a vehicle use the
Lock pre-drilled fixings points and the fixings supplied. Secure the
2 x Keys box through the floor of the vehicle.
AirTag holder Vehicle Installation Fixings supplied - 07135/07136

Base
.—~@@
Lid Item Qty

2 x M4 cross slot screws Hex Head Bolt
M10 x 40mm M *
M10 Shear Nut @ 4

M10 Washer == 4
Hex Head Self

Tapping Screw M10 x 30mm \\\\\‘\\) 4
To fix box to wooden panel. A\\\\\\\\ ~

M10 Sealing Washer

Replace standard M10 washer to @ 4
protect against water ingress.




Vehicle Installation Fixings supplied - 07135/07136

Maintenance and Disposal

Item Qty
L-Bracket Fixings
I 4
Hex Head Bolt M6 x 12mm M 8
M6 Washer — 8
Vehicle Installation Fixings supplied - 07134/07137
Item Qty

Hex Head Bolt 4
M10 x 20mm

M10 Shear Nut @ 4

M10 Washer == 4

Hex Head Self ‘\\
Tapping Screw M10 x 30mm \\\\\\\\\\‘J 4

To fix box to wooden panel.

M10 Sealing Washer

Replace standard M10 washer to 4
protect against water ingress. @

Fitting the AirTag Holder

« Ifrequired the AirTag holder can be fitted to the underside of
the drawer.

« Alignthe base @wnh the predrilled holes (- ea -Jonthe
underside of the drawer. Insert the required Aerag (not
supplied) or similar tracker.

« Attach lid |4b| with screws ﬂ supplied.

Lock Mechanism Maintenance

« Dueto the harsh environments the box is used in, it is
recommended that regular maintenance is performed on the
lock to keep it in working order.

« Inspect and clean the lock every 3-6 months. For ease it is
best to remove the lock when cleaning.

Fig. 2

« Toremove the Iock:
- Openthe lid and unscrew the M6 nuts from the internal
lock housing.
- Remove the disc lock - note the lock orientation.

- Locate the keyhole and holes on the back of the disc lock.
Blow out any dust and dirt from the lock.

- Lubricate lightly using a lubricant spray with PTFE
additives.

- Insertthe key and open and close the lock multiple times
to check the lock works freely.

- Reattach to the box.

At the end of its working life, dispose of the product responsibly
and in line with local regulations. Recycle where possible.

Warranty

10 years from date of purchase -
Visit bunkerstorage.com/warranty for full details.
To obtain replacement keys - Visit bunkerstorage.com

Contact Details

bunkerstorage.com

EU: Oude Graaf 8, 6002 NL, Weert, Netherlands
UK: Hursley Road, Chandler's Ford,
Eastleigh, Hampshire SO53 1YF



